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Analytical Reasoning Scenario Based Test

Questions

Choose the answer you think is most appropriate among the given options.Three men (Tahir,
Pervaiz, and Javed) and three women (Elena, Ayesha, and Kiran) are spending a few months
at Abbottabad. They are to stay in a row of nine cottages each one living in his or her own
cottage There are no others staying in the same row of houses.i. Ayesha, Tahir, and Javed
do not want to say in any cottage which is at the end of the row.ii. Elena and Ayesha are
unwilling to stay besides any occupied cottage.iii. Kiran is next to Pervaiz and javed.iv.
Between Ayesha and javed's cottage there is just one vacant house.v. None of the girls
occupies adjacent cottages.vi. The house occupied by Tahir is next to an end
cottage.1.Which of the above statements can be said to have been derived from two other
statements?

Choose the answer you think is most appropriate among the given options.Three men (Tahir,
Pervaiz, and Javed) and three women (Elena, Ayesha, and Kiran) are spending a few months
at Abbottabad. They are to stay in a row of nine cottages each one living in his or her own
cottage There are no others staying in the same row of houses.i. Ayesha, Tahir, and Javed
do not want to say in any cottage which is at the end of the row.ii. Elena and Ayesha are
unwilling to stay besides any occupied cottage.iii. Kiran is next to Pervaiz and javed.iv.
Between Ayesha and javed's cottage there is just one vacant house.v. None of the girls
occupies adjacent cottages.vi. The house occupied by Tahir is next to an end cottage.2. How
many of them occupy cottages next to a vacant cottage?

Choose the answer you think is most appropriate among the given options.Three men (Tahir,
Pervaiz, and Javed) and three women (Elena, Ayesha, and Kiran) are spending a few months
at Abbottabad. They are to stay in a row of nine cottages each one living in his or her own
cottage There are no others staying in the same row of houses.i. Ayesha, Tahir, and Javed
do not want to say in any cottage which is at the end of the row.ii. Elena and Ayesha are
unwilling to stay besides any occupied cottage.iii. Kiran is next to Pervaiz and javed.iv.
Between Ayesha and javed's cottage there is just one vacant house.v. None of the girls
occupies adjacent cottages.vi. The house occupied by Tahir is next to an end cottage.3.
Which among these statement (s) are true?a. Ayesha is between Elena and Javed.b. At the
most four persons can have occupied cottages on either side of them.c. Tahir stays besides
Pervaizs.

Choose the answer you think is most appropriate among the given options.An Internal
Services Manager at a large corporation has been assigned the task of allotting offices to six
of the staff members.The offices are titled A through F.Mrs.Ruby needs to use the telephone
quite often throughout the day.Mr. Mujahid and Mr. Zahid need adjacent offices as they need
to consult each other often while working. Mrs. Fauza is a senior employee and has to be
alloted the office marked E, having the biggest window.Mr. Abid requires silence in the offices
next to his Mr.Shahid Mr. Mujahid, and Mr, Abid are all smokers. Mrs Fauzia requires non-
smoker neighbors.Unless specifically stated all the employees maintain an atmosphere of
silence during office hours.4. The ideal candidate to occupy the office farthest from Mr. Zahid
would be

Choose the answer you think is most appropriate among the given options. An Internal
Services Manager at a large corporation has been assigned the task of allotting offices to six
of the staff members.The offices are titled A through F.Mrs.Ruby needs to use the telephone
quite often throughout the day.Mr. Mujahid and Mr. Zahid need adjacent offices as they need
to consult each other often while working. Mrs. Fauzia is a senior employee and has to be
alloted the office marked E, having the biggest window.Mr. Abid requires silence in the offices
next to his Mr.Shahid Mr. Mujahid, and Mr, Abid are all smokers. Mrs Fauzia requires non-
smoker neighbors.Unless specifically stated all the employees maintain an atmosphere of
silence during office hours.5. The three employees who are smokers should be seated in the
offices.

Choose the answer you think is most appropriate among the given options.An Internal
Services Manager at a large corporation has been assigned the task of allotting offices to six
of the staff members.The offices are titled A through F.Mrs.Ruby needs to use the telephone
quite often throughout the day.Mr. Mujahid and Mr. Zahid need adjacent offices as they need
to consult each other often while working. Mrs. Fauza is a senior employee and has to be
alloted the office marked E, having the biggest window.Mr. Abid requires silence in the offices
next to his Mr.Shahid Mr. Mujahid, and Mr, Abid are all smokers. Mrs Fauzia requires non-
smoker neighbors.Unless specifically stated all the employees maintain an atmosphere of
silence during office hours.6. The ideal office for Mr, Mujahid would be.

Choose the answer you think is most appropriate among the given options.Two or more
tealeaves out of five varieties-- Livana, Mathia, Novajana, Oxia, and Piask are used in

making all branded blends by a marketer following the rules given below.A brand containing
Livana should also contain Novajana twice that of Livana.A brand containing Mathia must
also have equal quantity of Oxia.A single brand never contains Novajana as well as Oxia.Oxia
and Piask should not be used together.A blend containing Piask should contain it in such a
proportion that the total amount of Piask present should be greater than the total amount of
the other tealeaves7. Among the following which is an acceptable brand in accordance with
the rules?

Answers Choice

A. Statement 1
B. Statement 2
C. Statement 3
E

. Statement 6
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A. One part Livana, one part Piask
B. Two parts Mathia, two parts
Livana

C. Three parts Novajana, three parts
Livana

E. Five parts Piask, five parts Mathia
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Choose the answer you think is most appropriate among the given options.Two or more
tealeaves out of five varieties-- Livana, Mathia, Novajana, Oxia, and Piask are used in
making all branded blends by a marketer following the rules given below.A brand containing
Livana should also contain Novajana twice that of Livana.A brand containing Mathia must
also have equal quantity of Oxia.A single brand never contains Novajana as well as Oxia.Oxia
and Piask should not be used together.A blend containing Piask should contain it in such a
proportion that the total amount of Piask present should be greater than the total amount of
the other tealeaves8.Adding more amount of Novajana will make which of the following
brands conformable with the conditions?

Choose the answer you think is most appropriate among the given options. Two or more
tealeaves out of five varieties-- Livana, Mathia, Novajana, Oxia, and Piask are used in
making all branded blends by a marketer following the rules given below.A brand containing
Livana should also contain Novajana twice that of Livana.A brand containing Mathia must
also have equal quantity of Oxia.A single brand never contains Novajana as well as Oxia.Oxia
and Piask should not be used together.A blend containing Piask should contain it in such a
proportion that the total amount of Piask present should be greater than the total amount of
the other tealeaves9. Among the following the addition of which combination would make a
brand containing two parts Novajana and one part Piask conformable with the conditions?

Choose the answer you think is most appropriate among the given options. Two or more
tealeaves out of five varieties-- Livana, Mathia, Novajana, Oxia, and Piask are used in
making all branded blends by a marketer following the rules given below.A brand containing
Livana should also contain Novajana twice that of Livana.A brand containing Mathia must
also have equal quantity of Oxia.A single brand never contains Novajana as well as Oxia.Oxia
and Piask should not be used together.A blend containing Piask should contain it in such a
proportion that the total amount of Piask present should be greater than the total amount of
the other tealeaves10. Among the following which combination cannot be used together in an
agreeable brand containing two or more types of tealeaves?

Choose the answer you think is most appropriate among the given options.Two or more
tealeaves out of five varieties-- Livana, Mathia, Novajana, Oxia, and Piask are used in
making all branded blends by a marketer following the rules given below.A brand containing
Livana should also contain Novajana twice that of Livana.A brand containing Mathia must
also have equal quantity of Oxia.A single brand never contains Novajana as well as Oxia.Oxia
and Piask should not be used together.A blend containing Piask should contain it in such a
proportion that the total amount of Piask present should be greater than the total amount of
the other tealeaves11. Among the below mentioned brands,which can be made agreeable by
the eliminating some or all of one type of teleaves?

Choose the answer you think is most appropriate among the given options.Nine individuals -
Z, Y, X, W,V,U, T, SandR - are the only candidates who can serve on three committees
labeled A. B and C.Each candidate should serve on exactly one of the
committees.Committees A should consist of exactly one member more than that of
committees B.lt is possible that there are no members of committees C. Among Z, Y and X
none can serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.12. In case T and Z are the individuals serving
on committee B, now many of the nine individuals should serve on committee C?

Choose the answer you think is most appropriate among the given options.Nine individuals -
Z, Y, X, W,V,U, T, SandR - are the only candidates who can serve on three committees
labeled A. B and C.Each candidate should serve on exactly one of the
committees.Committees A should consist of exactly one member more than that of
committees B.It is possible that there are no members of committees C. Among Z, Y and X
none can serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.13. Of the nine individuals,the largest number
that can serve together on committee C is

Choose the answer you think is most appropriate among the given options.Nine individuals -
Z, Y, X, W,V,U, T, SandR - are the only candidates who can serve on three committees
labeled A. B and C.Each candidate should serve on exactly one of the
committees.Committees A should consist of exactly one member more than that of
committees B.It is possible that there are no members of committees C. Among Z, Y and X
none can serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.14. In case R is the only individual serving on
committee B, which among the following should serve on committee A?

Choose the answer you think is most appropriate among the given options.Nine individuals -

Z, Y, X, W,V,U, T, SandR - are the only candidates who can serve on three committees
labeled A. B and C.Each candidate should serve on exactly one of the
committees.Committees A should consist of exactly one member more than that of
committees B.It is possible that there are no members of committees C. Among Z, Y and X
none can serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.15. In case any of the nine individuals serves on
committee C, which among the following could not be the candidate to serve on committee A?

Choose the answer you think is most appropriate among the given options.Nine individuals -
Z, Y, X, W,V,U, T, SandR - are the only candidates who can serve on three committees
labeled A. B and C.Each candidate should serve on exactly one of the
committees.Committees A should consist of exactly one member more than that of
committees B.It is possible that there are no members of committees C. Among Z, Y and X
none can serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.16. In case T, S and X are the only individuals
serving on committee B, the total membership of committee C should be:

B. Two parts Mathia, two parts
Novajana, two parts Piask

C. One part Mathia, one part
Novajana, one part Piask

D. Two parts Mathia, one part
Novajana, four parts Piask

E. Two parts Novajana, one part
Oxia, three parts Piask

A. One part Livana

B. One part Mathia

C. Two parts Novajana
D. One part Oxia

B. Livana and Novajana
C. Livana and Piask

D. Mathia and Oxia

E. Piask and Novajana

A. One part Livana, one part Mathia,
one part Novajana, four parts Piask

C. One part Livana, one part Mathia,
one part Oxia, one part Piask

D. Two parts Livana, two parts
Novajana, one part Oxia, two Parts
Piask

E. Two parts Mathia, one part
Novajana, two parts Oxia, three parts
Piask
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Choose the answer you think is most appropriate among the given options. Nine individuals -
Z, Y, X, W, V, U, T, Sand R - are the only candidates who can serve on three committees
labeled A. B and C.Each candidate should serve on exactly one of the
committees.Committees A should consist of exactly one member more than that of
committees B.It is possible that there are no members of committees C. Among Z, Y and X
none can serve on committee A. Among W, V and U none can serve on committee C. Among
T, S and R none can serve on committee C.17. Among the following combinations which
could constitute the membership of committee C?

Choose the answer you think is most appropriate among the given options.Four captains and
the first mates of three of them were called to attend the annual meeting at head quarters.
The captains were Lugman, Manzoor, Nauman and Osaf: the first mates were Ayesha, Durya
and Gia. Each person in turn delivered a report to the chairperson as follows:Each of the first
mates delivered their report exactly after her captain. The first captain to speak was
Manzoor, and captain Nauman spoke after him.(Represent the person with first letter of his
name)18. Which of the following order of delivering report is not conformable with the
conditions?

Choose the answer you think is most appropriate among the given options.Four captains and
the first mates of three of them were called to attend the annual meeting at head quarters.
The captains were Lugman, Manzoor, Nauman and Osaf: the first mates were Ayesha, Durya
and Gia. Each person in turn delivered a report to the chairperson as follows:Each of the first
mates delivered their report exactly after her captain. The first captain to speak was
Manzoor, and captain Nauman spoke after him.(Represent the person with first letter of his
name)19. In case A is the third of the first mates to speak, and L is the captain whose first
mate is not present, which among the following statements must be true?

Choose the answer you think is most appropriate among the given options.Four captains and
the first mates of three of them were called to attend the annual meeting at head quarters.
The captains were Lugman, Manzoor, Nauman and Osaf: the first mates were Ayesha, Durya
and Gia. Each person in turn delivered a report to the chairperson as follows:Each of the first
mates delivered their report exactly after her captain. The first captain to speak was
Manzoor, and captain Nauman spoke after him.(Represent the person with first letter of his
name)20. Among the following statements which statement must be true?

Choose the answer you think is most appropriate among the given options.Four captains and
the first mates of three of them were called to attend the annual meeting at head quarters.
The captains were Lugman, Manzoor, Nauman and Osaf: the first mates were Ayesha, Durya
and Gia. Each person in turn delivered a report to the chairperson as follows:Each of the first
mates delivered their report exactly after her captain. The first captain to speak was
Manzoor, and captain Nauman spoke after him.(Represent the person with first letter of his
name) 21. In case A spoke immediately after L and immediately before O, and O was not the
last speaker, L spoke

Choose the answer you think is most appropriate among the given options.Four captains and
the first mates of three of them were called to attend the annual meeting at head quarters.
The captains were Lugman, Manzoor, Nauman and Osaf: the first mates were Ayesha, Durya
and Gia. Each person in turn delivered a report to the chairperson as follows:Each of the first
mates delivered their report exactly after her captain. The first captain to speak was
Manzoor, and captain Nauman spoke after him.(Represent the person with first letter of his
name)22. In case L speaks after A, and A is the third of the first mates to speak, then among
the following statements which would be untrue?

Choose the answer you think is most appropriate among the given options.Four captains and

the first mates of three of them were called to attend the annual meeting at head quarters.
The captains were Lugman, Manzoor, Nauman and Osaf: the first mates were Ayesha, Durya
and Gia. Each person in turn delivered a report to the chairperson as follows:Each of the first
mates delivered their report exactly after her captain. The first captain to speak was
Manzoor, and captain Nauman spoke after him.(Represent the person with first letter of his
name)23. Among the following statements, which would make M, D, N, G, L, O, A the only
possible sequence of speakers?

Choose the answer you think is most appropriate among the given options.New specie of
bacteria A, causes the infectious disease A. The first symptoms appear after two days since
the bacteria A enters the body of the victim. The carrier for the bacteria is some flies,
mosquitoes, and bees.A mosquito bit Javed on Monday, February 6. Farooq worked with
javed the next day, Tuesday, February 7. There were no other possibilities of exposure to
disease A.24. In case javed showed symptoms of disease A. which of the following
statements would be true?d. javed contracted the Disease A from Faroog.e. javed first
noticed symptoms of Disease A on February 8.f. The fly that javed was bitten by was not a
carrier of the bacteria A.

Choose the answer you think is most appropriate among the given options.New specie of
bacteria A, causes the infectious disease A. The first symptoms appear after two days since
the bacteria A enters the body of the victim. The carrier for the bacteria is some flies,
mosquitoes, and bees.A mosquito bit Javed on Monday, February 6. Farooq worked with
javed the next day, Tuesday, February 7. There were no other possibilities of exposure to
disease A.25. In case Farooq displayed symptoms of disease A. which among the following

A Yand T

C.Y, Xand W
D.W,Vand U
E.Z X, Uand R

A M,A N G,O,L,D
B.M,D,N,G,L, O, A
C.M,N,ALDO,G
D.M,N A O,D,L,G

A. A spoke sometime before L

C. L spoke sometime Before O.
D. O spoke sometime Before L.
E. O spoke sometime Before N.

B. In case the second speaker was a
first mate, the seventh speaker was
captain.

C. In case the third speaker was a
first mate, the seventh speaker was
captain.

D. In case the third speaker was a
captain, the seventh speaker was a
first mate.

E. In case the seventh speaker was
a first mate, the first and third
speakers were captains.

A. Second
B. Third

D. Fifth
E. Sixth

A. O spoke immediately after G

B. The order of the first four
speakers was M, G, N, D

C. O's first fourth mate was present

E. The captains spoke in the order
M, N, O, L

A. D is M's first mate; G is N's first
mate; Ais O's first mate.

C. The order of the first four
speakers was M, D, N, G.

D. The order of the last three
speakerswas L, O, A

E. The order in which the captains
spoke was M, N, L, O.
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would be true?g. javed contracted the Disease A from Faroog.h. javed first noticed symptoms
of Disease A on February 8.i. The fly that javed was bitten by was not a carrier of the
bacteria A.

Choose the answer you think is most appropriate among the given options.New specie of
bacteria A, causes the infectious disease A. The first symptoms appear after two days since
the bacteria A enters the body of the victim. The carrier for the bacteria is some flies,
mosquitoes, and bees.A mosquito bit Javed on Monday, February 6. Farooq worked with
javed the next day, Tuesday, February 7. There were no other possibilities of exposure to
disease A.26. In case javed displayed symptoms of disease A. which would be true?j. javed
was also bitten by a fly on February 5.k. javed was bitten by a mosquito,which carried the
bacteria A.l. Farooq contracted Disease A from Javed.

Choose the answer you think is most appropriate among the given options. New specie of
bacteria A, causes the infectious disease A. The first symptoms appear after two days since
the bacteria A enters the body of the victim. The carrier for the bacteria is some flies,
mosquitoes, and bees.A mosquito bit Javed on Monday, February 6. Farooq worked with
javed the next day, Tuesday, February 7. There were no other possibilities of exposure to
disease A.27. In case Farooq displayed symptoms of Disease A. which of the following would
be true?m. Farooq was bitten by a bee on February 6.n. Farooq ate food, which contained
the bacteria A.o. Farooq also worked with Javed on February 6.

Choose the answer you think is most appropriate among the given options.New specie of
bacteria A, causes the infectious disease A. The first symptoms appear after two days since
the bacteria A enters the body of the victim. The carrier for the bacteria is some flies,
mosquitoes, and bees.A mosquito bit Javed on Monday, February 6. Farooq worked with
javed the next day, Tuesday, February 7. There were no other possibilities of exposure to
disease A.28. In a particular code, the digits from 0 to 9 inclusive are each represented by a
different letter of the alphabat, the letter always representing the same digit. In case the
following sumZ M P Z+ S K Z--------- C R Z Qholds true when it is expressed in digits, which of
the following cannot be properly inferred:

Choose the answer you think is most appropriate among the given options.On a factory
control room. there are three ON-OFF switches on central control panel, labeled A, B, and C,
They are changed from setting to a required setting based on the following rules:In case only
switch A is ON in the default setting, then turn switch B ON.In case switches A and B are the
only switches On in the default setting, then turn the switch C ON. In case all the three
switches are ON in default setting then turn the switch C OFF. For any other default setting,
turn ON all switches that are OFF all switches, if any that are ON.29. In case in default setting
the swtihes A and B are ON and the switch C is OFF, then what could be the second setting?

Choose the answer you think is most appropriate among the given options.On a factory
control room. there are three ON-OFF switches on central control panel, labeled A, B, and C,
They are changed from setting to a required setting based on the following rules:In case only
switch A is ON in the default setting, then turn switch B ON.In case switches A and B are the
only switches On in the default setting, then turn the switch C ON. In case all the three
switches are ON in default setting then turn the switch C OFF. For any other default setting,
turn ON all switches that are OFF all switches, if any that are ON.30. In case only switch B is
ON in the default setting.what must be the second setting?

Choose the answer you think is most appropriate among the given options.On a factory
control room. there are three ON-OFF switches on central control panel, labeled A, B, and C,
They are changed from setting to a required setting based on the following rules:In case only
switch A is ON in the default setting, then turn switch B ON.In case switches A and B are the
only switches On in the default setting, then turn the switch C ON. In case all the three
switches are ON in default setting then turn the switch C OFF. For any other default setting,

turn ON all switches that are OFF all switches, if any that are ON.31. In case all the three
switches are ON in the second setting, which among the following could have been the
default setting?

Choose the answer you think is most appropriate among the given options.On a factory
control room. there are three ON-OFF switches on central control panel, labeled A, B, and C,
They are changed from setting to a required setting based on the following rules:In case only
switch A is ON in the default setting, then turn switch B ON.In case switches A and B are the
only switches On in the default setting, then turn the switch C ON. In case all the three
switches are ON in default setting then turn the switch C OFF. For any other default setting,
turn ON all switches that are OFF all switches, if any that are ON.32. In case switch A is OFF
in the second setting. Which of the following could have been the default setting?

Choose the answer you think is most appropriate among the given options.On a factory
control room. there are three ON-OFF switches on central control panel, labeled A, B, and C,
They are changed from setting to a required setting based on the following rules:In case only
switch A is ON in the default setting, then turn switch B ON.In case switches A and B are the
only switches On in the default setting, then turn the switch C ON. In case all the three
switches are ON in default setting then turn the switch C OFF. For any other default setting,
turn ON all switches that are OFF all switches, if any that are ON.33. In case only switch B is
ONin the second setting, Which of the following could have been the default setting?

Choose the answer you think is most appropriate among the given options.On a factory
control room. there are three ON-OFF switches on central control panel, labeled A, B, and C,
They are changed from setting to a required setting based on the following rules:In case only
switch A is ON in the default setting, then turn switch B ON.In case switches A and B are the
only switches On in the default setting, then turn the switch C ON. In case all the three
switches are ON in default setting then turn the switch C OFF. For any other default setting,
turn ON all switches that are OFF all switches, if any that are ON.34. Which of the following
default settings leads to a second setting, where only one switch is OFF?

Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.

Tha film chnue ara nlannad in an Ardar whicrh ~ranfarme ta tha fallawina ~Aanditinne A miiet
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. Z cannot be 0.

. Q must be even.
. M+ S must be greater than 8.
. C must be greater than Z by 1.

.AON, B OFF, C ON.
.AON, B OFF, C OFF.
.AOFF, BON, C OFF.

A OFF, B OFF, C ON.

.AON, BON, CON.
.AON, BON, C OFF.

. AOFF, B OFF, C ON.
. AOFF, B OFF, C OFF.

.AON, BON, CON.

.AON, BOFF, CON.
.AON, BOFF, C OFF.

. AOFF, B ON, C OFF.

.AON, BON, CON.
.AON, BON, C OFF.

.AON, B OFF, C OFF.
. AOFF, BON, C OFF.

.AON, BON, CON.

.AOFF, BON, C OFF.
. AOFF, BOFF, CON.
. AOFF, B OFF, C OFF.

.AON, BON, C OFF.
. AON, B OFF, C ON.
.AOFF, BON, C ON.

. A OFF, B OFF, C OFF.

. Ais the second film shown.
. B is the second film shown.

M ic tha third film chAaun
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shown earlier than C.B must shown earlier than D.E should be the fifth film shown.35. In case
C is shown earlier than E Which among the following will hold true?

Choose the answer you think is most appropriate among the given options. Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.36. In case
D is to be shown earlier than A Then for which of the following is exactly the one position from
first through fifth in which it can be scheduled to be shown?

Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.37. Which
among the following is an acceptable order for showing the educational films?

Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.38. Which
among the following is a pair of films that CANNOT both be shown earlier than E?

Choose the answer you think is most appropriate among the given options. Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.39. In case
D and E are shown as far apart from each other as possible which among the following would
be true?

Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.40. In case
B, D and E are to be shown one after the order in the given order. the two positions from first
to fifth in which A could possibly be shown are

Choose the answer you think is most appropriate among the given options. Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.41. In case
exactly one film is shown between A and C. and exactly one film is shown between B and D.
which among the following will hold true?

Choose the answer you think is most appropriate among the given options. A bus has exactly
six stops on its route. The bus first stops at stop one and then at stops two, three, four, five,

and six respectively. After the bus leaves stop six, the bus turns and returns to stop one and
repeats the cycle. The stops are at six buildings that are in alphabetical order L, M, N, O, P,
and Q.P is the third stop. M is the sixth stop. The stop O is the stop immediately before Q. N
is the stop immediately before L.42. In case Nis the fourth stop, which among the following
must be the stop immediately before P?

Choose the answer you think is most appropriate among the given options.A bus has exactly
six stops on its route. The bus first stops at stop one and then at stops two, three, four, five,
and six respectively. After the bus leaves stop six, the bus turns and returns to stop one and
repeats the cycle. The stops are at six buildings that are in alphabetical order L, M, N, O, P,
and Q.P is the third stop. M is the sixth stop. The stop O is the stop immediately before Q. N
is the stop immediately before L.43. In case L is the second stop, which among the following
must be the stop immediately before M?

Choose the answer you think is most appropriate among the given options.A bus has exactly
six stops on its route. The bus first stops at stop one and then at stops two, three, four, five,
and six respectively. After the bus leaves stop six, the bus turns and returns to stop one and
repeats the cycle. The stops are at six buildings that are in alphabetical order L, M, N, O, P,
and Q.P is the third stop. M is the sixth stop. The stop O is the stop immediately before Q. N
is the stop immediately before L.44. In case a passenger gets on the bus at O, rides past
one of the stops, and gets off at P, which of the following must be true?

Choose the answer you think is most appropriate among the given options.Six scientists A, B,
C, D, E, and F are to present a paper each at a one-day conference, Three of them will
present their papers in the morning session before the lunch break whereas the other three
will be presented in the afternoon session. The lectures have to be scheduled in such a way
that they comply with the following restrictions:B's should present his paper immediately
before C's presentation; their presentations cannot be separated by the lunch break.D must
be either the first or the last scientist to present his paper.45. In case C is to be the fifth
scientist to present his paper, then B must be.

Choose the answer you think is most appropriate among the given options.Six scientists A, B,
C, D, E, and F are to present a paper each at a one-day conference, Three of them will
present their papers in the morning session before the lunch break whereas the other three
will be presented in the afternoon session. The lectures have to be scheduled in such a way
that they comply with the following restrictions:B's should present his paper immediately
before C's presentation; their presentations cannot be separated by the lunch break.D must
be either the first or the last scientist to present his paper.46. B could be placed for any of
the following places in the order of presenters EXCEPT

Choose the answer you think is most appropriate among the given options. Six scientists A,
B. C. D. E. and F are to present a paper each at a one-dav conference.Three of them will
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. E is the fourth film shown.

. Ais shown earlier than B
. B is shown earlier than C

C is shown earlier than E
D is shown earlier than A

. First and second.
. Second and third.

. Third and fifth.
. Fourth and fifth.

. C is the film shown between B and
. E is the film shown between A and

. D is the last film shown.
. E is the first film shown.

o)

. Q is stop three.
. P is stop four.
. Nis stop five.

L is stop six.

First
Second

. Third
. Fourth

. First
. Second

Fourth
Fifth
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present their papers in the morning session before the lunch break whereas the other three
will be presented in the afternoon session. The lectures have to be scheduled in such a way
that they comply with the following restrictions:B's should present his paper immediately
before C's presentation; their presentations cannot be separated by the lunch break.D must
be either the first or the last scientist to present his paper.47. In case F is to present his
paper immediately after D presents his paper, C could be scheduled for which of the
following places in the order of presenters?

Choose the answer you think is most appropriate among the given options. Six scientists A,
B, C, D, E, and F are to present a paper each at a one-day conference,Three of them will
present their papers in the morning session before the lunch break whereas the other three
will be presented in the afternoon session. The lectures have to be scheduled in such a way
that they comply with the following restrictions:B's should present his paper immediately
before C's presentation; their presentations cannot be separated by the lunch break.D must
be either the first or the last scientist to present his paper.48. In case F and E are the fifth
and sixth presenters respectively then which of the following must be true?

Choose the answer you think is most appropriate among the given options. Three girls Joan,
Rita, and Kim and two boys Tim and Steve are the only dancers in a dance program, which
consists of six numbers in this order: One a duet; three a solo; four a duet; five a solo; and
six a duet.None of the dancers is in two consecutive numbers or in more than two numbers,
The first number in which Tim appears is the one that comes before the first number in which
Kim appears.The second number in which Tim appears is one that comes after second
number in which Kim appears.49. Rita must perform only in duets if

A. First
B. Second
C. Third
D. Fourth

B. Ais third in the order of
presenters.

C. Aiis fourth in the order of
presenters.

D. B is first in the order of
presenters.

E. C is fourth in the order of
presenters.

A. Kim is in number two
B. Kim is in number five
C. Timis in number one

E. Timis in number six



